
9-2

Engine

Fan

Muffler

Air cleaner

Accel actuator

1

3

2

4 2

6

6

5

4

4

1

3

2

2

GROUP  2  ENGINE SYSTEMGROUP  2  ENGINE SYSTEM

·Tightening torque

ENGINE  AND ACCESSORIES MOUNTINGENGINE  AND ACCESSORIES MOUNTING

4309SH9CM01

Item Size kgf·m lbf·ft

1    M 8×1.25   2.5±0.5 18.1±3.6

2 M10×1.5   6.9±1.4   49.9±10.1

3   M12×1.75   7.5±1.0 54.2±7.2

Item Size kgf·m lbf·ft

4 M12×1.75 12.8±3.0 92.6±21.7

5    M14×2.0 14.5±2.5      105±18.1

6    M22×2.5       48±2.0      347±14.4



9-3

Engine

Fan

Muffler

Air cleaner

Accel actuator

Oil fan cover

2

2
2

4
2

1
2

3

6

2

2

2

6

5

1

4

2

3

·Tightening torque

ENGINE  AND ACCESSORIES MOUNTING ENGINE  AND ACCESSORIES MOUNTING (ARCTIC MACHINE)

4309SH9CM20

Item Size kgf·m lbf·ft

1    M 8×1.25   2.5±0.5 18.1±3.6

2 M10×1.5   6.9±1.4   49.9±10.1

3   M12×1.75   7.5±1.0 54.2±7.2

Item Size kgf·m lbf·ft

4 M12×1.75 12.8±3.0 92.6±21.7

5    M14×2.0 14.5±2.5      105±18.1

6    M22×2.5       48±2.0      347±14.4



9-4

Fuel tank

Hyd tank

8

5
9

2
Pre filter

Condenser

Screen

Resevoir tank

Shroud

Oil cooler

Radiator

21

3

2

4

5

5

6 7

2 6

5

Air compressor
Air con idle pully

Item

·Tightening torque

1

2

3

4

5

M 6×1.0

M 8×1.25

M 8×1.25

M10×1.25

M10×1.5

  0.5±0.2

  2.5±0.5

  1.3±0.2

  5.0±0.2

  6.9±1.4

  3.6±1.45

18.1±3.6

  9.4±1.45

36.1±1.45

49.9±10.1

Size kgf·m lbf·ft Item

6

7

8

9

M12×1.75

M16×2.0

M20×2.5

         -

12.8±3.0

29.7±4.5

 57.9±8.7

  2.3±0.6

92.6±21.7

 215±32.5

 419±62.9

16.6±4.3

Size kgf·m lbf·ft

COOLING SYSTEM AND FUEL TANK MOUNTINGCOOLING SYSTEM AND FUEL TANK MOUNTING

3809SH9CM02


